

47313.3.1

TIP NO EB-5857

0.890 MILES

FED AID NO 0200413

GRADING, DRAINAGE, CURB & GUTTER, SIDEWALK, PAVEMENT EB-5857

NC 200 FROM N. LOVE CHAPEL RD. TO CARMEL RD. IN STANFIELD

TRUEROCK CONSTRUCTION LLC
MONROE, NC

SEALAND CONTRACTORS CORP
MIDLAND, NC

J T RUSSELL & SONS INC
ALBEMARLE, NC

ROADWAY ITEMS

Item ID	Code	Quantity	Description	Unit	Rate	TRUEROCK	SEALAND	J T RUSSELL
0001	0000100000-N	800	MOBILIZATION	Lump Sum		49,000.00	57,950.00	65,000.00
0002	0043000000-N	226	GRADING (226)	Lump Sum		240,000.00	481,026.25	376,200.00
0003	0057000000-E	226	UNDERCUT EXCAVATION	75 CY	188.00	14,100.00	80.00 6,000.00	40.00 3,000.00
0004	0156000000-E	250	REMOVAL OF EXT ASPHALT PVMT	85 SY	31.50	2,677.50	18.00 1,530.00	65.00 5,525.00
0005	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	100 SY	12.00	1,200.00	5.00 500.00	5.00 500.00
0006	0234000000-E	SP	GENERIC GRADING ITEM (CY) BORROW EXCAVATION (PIPE INSTALLATION)	25 CY	88.50	2,212.50	60.00 1,500.00	50.00 1,250.00
0007	0318000000-E	300	FND CONDIT MATL MINOR STRS	60 TON	146.00	8,760.00	75.00 4,500.00	65.00 3,900.00
0008	0321000000-E	300	FND CONDIT GEOTEXTILE (4A)	180 SY	10.50	1,890.00	4.00 720.00	7.00 1,260.00
0009	0335100000-E	305	12" DRAINAGE PIPE	44 LF	160.00	7,040.00	125.00 5,500.00	150.00 6,600.00
0010	0366000000-E	310	15" RC PIPE CULV III	12 LF	498.00	5,976.00	185.00 2,220.00	250.00 3,000.00
0011	0372000000-E	310	18" RC PIPE CULV III	60 LF	155.00	9,300.00	145.00 8,700.00	150.00 9,000.00
0012	0378000000-E	310	24" RC PIPE CULV III	104 LF	190.00	19,760.00	180.00 18,720.00	125.00 13,000.00
0013	0384000000-E	310	30" RC PIPE CULV III	20 LF	585.00	11,700.00	365.00 7,300.00	350.00 7,000.00
0014	0453000000-E	310	*** PIPE END SECTION (18")	1 EA	2,900.00	2,900.00	2,750.00 2,750.00	3,500.00 3,500.00
0015	0995000000-E	340	PIPE REMOVAL	130 LF	66.00	8,580.00	36.00 4,680.00	60.00 7,800.00
0016	1220000000-E	545	INCIDENTAL STONE BASE	100 TON	81.00	8,100.00	75.00 7,500.00	75.00 7,500.00
0017	1297000000-E	607	MILL ASP PVMT ***** DTH (1.5" DEPTH)	60 SY	70.00	4,200.00	45.00 2,700.00	80.00 4,800.00
0018	1330000000-E	607	INCIDENTAL MILLING	100 SY	39.00	3,900.00	45.00 4,500.00	55.00 5,500.00
0019	1491000000-E	610	ASP CONC BASE CRS B25.0C	40 TON	480.00	19,200.00	130.00 5,200.00	330.00 13,200.00
0020	1503000000-E	610	ASP CONC INTR CRS I19.0C	35 TON	274.00	9,590.00	130.00 4,550.00	440.00 15,400.00
0021	1519000000-E	610	ASP CONC SURF CRS S9.5B	30 TON	354.00	10,620.00	175.00 5,250.00	500.00 15,000.00
0022	1575000000-E	620	ASP FOR PLANT MIX	5 TON	650.00	3,250.00	650.00 3,250.00	800.00 4,000.00
0023	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	20 TON	410.00	8,200.00	215.00 4,300.00	500.00 10,000.00
0024	2253000000-E	840	PIPE COLLARS	1 CY	3,500.00	3,500.00	1,800.00 1,800.00	3,500.00 3,500.00
0025	2286000000-N	840	MASNRY DRAINAGE STRUCT	4 EA	4,600.00	18,400.00	4,400.00 17,600.00	6,500.00 26,000.00
0026	2366000000-N	840	FRAME W/2GRTS 840.24 STD	4 EA	4,000.00	16,000.00	1,500.00 6,000.00	2,200.00 8,800.00
0027	2549000000-E	846	2'-6" CONC CURB & GUTTER	265 LF	67.00	17,755.00	45.00 11,925.00	50.00 13,250.00
0028	2570000000-N	SP	MODIFIED CONCRETE FLUME	1 EA	5,000.00	5,000.00	2,750.00 2,750.00	2,250.00 2,250.00
0029	2591000000-E	848	4" CONCRETE SIDEWALK	2,610 SY	57.00	148,770.00	60.00 156,600.00	90.00 234,900.00
0030	2605000000-N	848	CONCRETE CURB RAMPS	2 EA	4,350.00	8,700.00	2,000.00 4,000.00	3,000.00 6,000.00
0031	2612000000-E	848	6" CONCRETE DRIVEWAY	40 SY	240.00	9,600.00	90.00 3,600.00	140.00 5,600.00
0032	2738100000-E	SP	GENERIC PAVING ITEM (SF) DETECTABLE WARNING SURFACE	100 SF	72.00	7,200.00	20.00 2,000.00	90.00 9,000.00
0033	2830000000-N	858	ADJ MANHOLES	1 EA	2,850.00	2,850.00	1,000.00 1,000.00	1,800.00 1,800.00
0034	2845000000-N	858	ADJ METER OR VALVE BOXES	2 EA	1,550.00	3,100.00	500.00 1,000.00	1,800.00 3,600.00
0035	3642000000-E	876	RIP RAP, CLASS A	20 TON	250.00	5,000.00	95.00 1,900.00	90.00 1,800.00
0036	3649000000-E	876	RIP RAP, CLASS B	20 TON	250.00	5,000.00	95.00 1,900.00	90.00 1,800.00
0037	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	50 SY	12.50	625.00	3.00 150.00	10.00 500.00
0038	4025000000-E	901	CONTR FURN, TYPE ***SIGN (E)	24.5 SF	38.00	931.00	26.00 637.00	35.00 857.50

47313.3.1

TIP NO EB-5857

0.890 MILES

FED AID NO 0200413

GRADING, DRAINAGE, CURB & GUTTER, SIDEWALK, PAVEMENT EB-5857

NC 200 FROM N. LOVE CHAPEL RD. TO CARMEL RD. IN STANFIELD

				TRUEROCK CONSTRUCTION LLC MONROE, NC		SEALAND CONTRACTORS CORP MIDLAND, NC		J T RUSSELL & SONS INC ALBEMARLE, NC			
0039	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	44	LF	10.00	440.00	8.25	363.00	11.00	484.00
0040	4102000000-N	904	SIGN ERECTION, TYPE E	4	EA	200.00	800.00	265.00	1,060.00	350.00	1,400.00
0041	4400000000-E	1110	WORK ZONE SIGNS (STAT)	72	SF	9.00	648.00	27.50	1,980.00	35.00	2,520.00
0042	4457000000-N	SP	TEMP TRAFFIC CONTROL (SP)	Lump Sum			72,000.00		75,000.00		120,000.00
0043	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	100	LF	22.00	2,200.00	10.50	1,050.00	15.00	1,500.00
0044	4709000000-E	1205	24"WIDE THERMO 90 MILS	120	LF	35.00	4,200.00	10.50	1,260.00	15.00	1,800.00
0045	4890000000-E	SP	GENERIC PAVEMENT MARKING ITEM (LF) YIELD LINE THERMOPLASTIC PAVEMENT MARKING, 24", 90 MILS	10	LF	35.00	350.00	26.75	267.50	40.00	400.00
0046	5648000000-N	1515	RELOCATE WATER METER	9	EA	3,350.00	30,150.00	2,000.00	18,000.00	3,700.00	33,300.00
0047	5672000000-N	1515	RELOCATE FIRE HYDRANT	1	EA	11,000.00	11,000.00	5,000.00	5,000.00	8,000.00	8,000.00
0048	5673000000-E	1515	FIRE HYDRANT LEG	20	LF	165.00	3,300.00	140.00	2,800.00	180.00	3,600.00
0049	5686500000-E	1515	WATER SERVICE LINE (<2")	40	LF	170.00	6,800.00	185.00	7,400.00	120.00	4,800.00
0050	5768000000-N	1520	SANITARY SEWER CLEAN-OUT	5	EA	6,400.00	32,000.00	3,200.00	16,000.00	4,000.00	20,000.00
0051	6000000000-E	1605	TEMPORARY SILT FENCE	1,035	LF	3.50	3,622.50	3.25	3,363.75	3.50	3,622.50
0052	6006000000-E	1610	EROS CONTRL STONE CL A	110	TON	115.00	12,650.00	95.00	10,450.00	80.00	8,800.00
0053	6009000000-E	1610	EROS CONTRL STONE CL B	10	TON	135.00	1,350.00	95.00	950.00	100.00	1,000.00
0054	6012000000-E	1610	SEDIMENT CONTROL STONE	50	TON	105.00	5,250.00	75.00	3,750.00	85.00	4,250.00
0055	6018000000-E	1620	SEED FOR TEMP SEEDING	250	LB	1.96	490.00	1.35	337.50	3.50	875.00
0056	6021000000-E	1620	FERT FOR TEMP SEEDING	1	TON	600.00	600.00	1,650.00	1,650.00	1,500.00	1,500.00
0057	6029000000-E	SP	SAFETY FENCE	80	LF	4.50	360.00	2.00	160.00	2.50	200.00
0058	6030000000-E	1630	SILT EXCAVATION	100	CY	36.00	3,600.00	30.00	3,000.00	100.00	10,000.00
0059	6036000000-E	1631	MATTING FOR EROS CONTROL	280	SY	3.00	840.00	2.50	700.00	2.50	700.00
0060	6038000000-E	SP	PERM SOIL REINF MAT	340	SY	4.75	1,615.00	6.00	2,040.00	7.50	2,550.00
0061	6042000000-E	1632	1/4" HARDWARE CLOTH	30	LF	3.50	105.00	7.00	210.00	40.00	1,200.00
0062	6071002000-E	1642	FLOCCULANT	15	LB	9.00	135.00	20.00	300.00	14.00	210.00
0063	6071010000-E	1642	WATTLE	200	LF	15.00	3,000.00	10.00	2,000.00	12.00	2,400.00
0064	6084000000-E	1660	SEEDING AND MULCHING	2	ACR	3,850.00	7,700.00	3,150.00	6,300.00	3,500.00	7,000.00
0065	6087000000-E	1660	MOWING	2	ACR	500.00	1,000.00	320.00	640.00	300.00	600.00
0066	6090000000-E	1661	SEED FOR REPAIR SEEDING	250	LB	1.96	490.00	9.00	2,250.00	9.00	2,250.00
0067	6093000000-E	1661	FERT FOR REPAIR SEEDING	1	TON	600.00	600.00	1,725.00	1,725.00	2,000.00	2,000.00
0068	6096000000-E	1662	SEED FOR SUPP SEEDING	100	LB	1.96	196.00	9.00	900.00	8.00	800.00
0069	6108000000-E	1665	FERTILIZER TOPDRESSING	1	TON	600.00	600.00	1,825.00	1,825.00	2,000.00	2,000.00
0070	6114500000-N	1667	SPECIALIZED HAND MOWING	20	MHR	80.00	1,600.00	100.00	2,000.00	100.00	2,000.00
0071	6117000000-N	1675	RESPONSE FOR EROS CONTROL	10	EA	50.00	500.00	85.00	850.00	350.00	3,500.00
0072	6117500000-N	SP	CONC WASHOUT STRUCTURE	2	EA	3,218.95	6,437.90	1,650.00	3,300.00	1,200.00	2,400.00
0073	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RECTANGULAR RAPID FLASHING BEACON SOLAR POWERED DISPLAY AND CONTROLLER ASSEMBLY	2	EA	16,000.00	32,000.00	17,250.00	34,500.00	21,000.00	42,000.00
0075	3575000000-E	SP	GENERIC FENCING ITEM (LF) 2 BAR HANDRAIL	707	LF	55.00	38,885.00	130.00	91,910.00	150.00	106,050.00
CONTRACT TOTAL						TOTAL	992,101.40	TOTAL	1,159,000.00	TOTAL	1,307,304.00

47313.3.1

0.890 MILES

TIP NO EB-5857

FED AID NO 0200413

GRADING, DRAINAGE, CURB & GUTTER, SIDEWALK, PAVEMENT EB-5857

NC 200 FROM N. LOVE CHAPEL RD. TO CARMEL RD. IN STANFIELD

TRUEROCK CONSTRUCTION LLC
MONROE, NC

SEALAND CONTRACTORS CORP
MIDLAND, NC

J T RUSSELL & SONS INC
ALBEMARLE, NC

ROADWAY ITEMS

SUB-TOTAL 992,101.40

SUB-TOTAL 1,159,000.00

SUB-TOTAL 1,307,304.00

47313.3.1

TIP NO EB-5857

0.890 MILES

FED AID NO 0200413

GRADING, DRAINAGE, CURB & GUTTER, SIDEWALK, PAVEMENT EB-5857

NC 200 FROM N. LOVE CHAPEL RD. TO CARMEL RD. IN STANFIELD

NJR GROUP INC
ALBEMARLE, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum			80,000.00
0002	0043000000-N	226	GRADING (226)	Lump Sum			525,000.00
0003	0057000000-E	226	UNDERCUT EXCAVATION	75	CY	10.00	750.00
0004	0156000000-E	250	REMOVAL OF EXT ASPHALT PVMT	85	SY	1.00	85.00
0005	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	100	SY	1.00	100.00
0006	0234000000-E	SP	GENERIC GRADING ITEM (CY) BORROW EXCAVATION (PIPE INSTALLATION)	25	CY	1.00	25.00
0007	0318000000-E	300	FND CONDIR MATL MINOR STRS	60	TON	1.00	60.00
0008	0321000000-E	300	FND CONDIR GEOTEXTILE (4A)	180	SY	1.00	180.00
0009	0335100000-E	305	12" DRAINAGE PIPE	44	LF	85.00	3,740.00
0010	0366000000-E	310	15" RC PIPE CULV III	12	LF	105.00	1,260.00
0011	0372000000-E	310	18" RC PIPE CULV III	60	LF	155.00	9,300.00
0012	0378000000-E	310	24" RC PIPE CULV III	104	LF	175.00	18,200.00
0013	0384000000-E	310	30" RC PIPE CULV III	20	LF	225.00	4,500.00
0014	0453000000-E	310	*** PIPE END SECTION (18")	1	EA	5,500.00	5,500.00
0015	0995000000-E	340	PIPE REMOVAL	130	LF	25.00	3,250.00
0016	1220000000-E	545	INCIDENTAL STONE BASE	100	TON	50.00	5,000.00
0017	1297000000-E	607	MILL ASP PVMT ***** DTH (1.5" DEPTH)	60	SY	55.00	3,300.00
0018	1330000000-E	607	INCIDENTAL MILLING	100	SY	65.00	6,500.00
0019	1491000000-E	610	ASP CONC BASE CRS B25.0C	40	TON	300.00	12,000.00
0020	1503000000-E	610	ASP CONC INTR CRS I19.0C	35	TON	300.00	10,500.00
0021	1519000000-E	610	ASP CONC SURF CRS S9.5B	30	TON	300.00	9,000.00
0022	1575000000-E	620	ASP FOR PLANT MIX	5	TON	715.00	3,575.00
0023	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	20	TON	250.00	5,000.00
0024	2253000000-E	840	PIPE COLLARS	1	CY	5,500.00	5,500.00
0025	2286000000-N	840	MASNRY DRAINAGE STRUCT	4	EA	7,500.00	30,000.00
0026	2366000000-N	840	FRAME W/2GRTS 840.24 STD	4	EA	1,250.00	5,000.00
0027	2549000000-E	846	2'-6" CONC CURB & GUTTER	265	LF	81.00	21,465.00
0028	2570000000-N	SP	MODIFIED CONCRETE FLUME	1	EA	9,000.00	9,000.00
0029	2591000000-E	848	4" CONCRETE SIDEWALK	2,610	SY	116.40	303,804.00
0030	2605000000-N	848	CONCRETE CURB RAMPS	2	EA	3,000.00	6,000.00
0031	2612000000-E	848	6" CONCRETE DRIVEWAY	40	SY	240.00	9,600.00
0032	2738100000-E	SP	GENERIC PAVING ITEM (SF) DETECTABLE WARNING SURFACE	100	SF	58.80	5,880.00
0033	2830000000-N	858	ADJ MANHOLES	1	EA	2,500.00	2,500.00
0034	2845000000-N	858	ADJ METER OR VALVE BOXES	2	EA	2,500.00	5,000.00
0035	3642000000-E	876	RIP RAP, CLASS A	20	TON	1.00	20.00
0036	3649000000-E	876	RIP RAP, CLASS B	20	TON	1.00	20.00
0037	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	50	SY	1.00	50.00
0038	4025000000-E	901	CONTR FURN, TYPE ***SIGN (E)	24.5	SF	30.00	735.00

47313.3.1

TIP NO EB-5857

0.890 MILES

FED AID NO 0200413

GRADING, DRAINAGE, CURB & GUTTER, SIDEWALK, PAVEMENT EB-5857

NC 200 FROM N. LOVE CHAPEL RD. TO CARMEL RD. IN STANFIELD

NJR GROUP INC
ALBEMARLE, NC

0039	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	44	LF	24.00	1,056.00
0040	4102000000-N	904	SIGN ERECTION, TYPE E	4	EA	360.00	1,440.00
0041	4400000000-E	1110	WORK ZONE SIGNS (STAT)	72	SF	42.00	3,024.00
0042	4457000000-N	SP	TEMP TRAFFIC CONTROL (SP)	Lump Sum			225,000.00
0043	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	100	LF	12.00	1,200.00
0044	4709000000-E	1205	24"WIDE THERMO 90 MILS	120	LF	18.00	2,160.00
0045	4890000000-E	SP	GENERIC PAVEMENT MARKING ITEM (LF) YIELD LINE THERMOPLASTIC PAVEMENT MARKING, 24", 90 MILS	10	LF	180.00	1,800.00
0046	5648000000-N	1515	RELOCATE WATER METER	9	EA	6,600.00	59,400.00
0047	5672000000-N	1515	RELOCATE FIRE HYDRANT	1	EA	8,214.00	8,214.00
0048	5673000000-E	1515	FIRE HYDRANT LEG	20	LF	240.00	4,800.00
0049	5686500000-E	1515	WATER SERVICE LINE (<2")	40	LF	180.00	7,200.00
0050	5768000000-N	1520	SANITARY SEWER CLEAN-OUT	5	EA	5,000.00	25,000.00
0051	6000000000-E	1605	TEMPORARY SILT FENCE	1,035	LF	4.20	4,347.00
0052	6006000000-E	1610	EROS CONTRL STONE CL A	110	TON	1.00	110.00
0053	6009000000-E	1610	EROS CONTRL STONE CL B	10	TON	1.00	10.00
0054	6012000000-E	1610	SEDIMENT CONTROL STONE	50	TON	1.00	50.00
0055	6018000000-E	1620	SEED FOR TEMP SEEDING	250	LB	2.35	587.50
0056	6021000000-E	1620	FERT FOR TEMP SEEDING	1	TON	720.00	720.00
0057	6029000000-E	SP	SAFETY FENCE	80	LF	5.40	432.00
0058	6030000000-E	1630	SILT EXCAVATION	100	CY	1.00	100.00
0059	6036000000-E	1631	MATTING FOR EROS CONTROL	280	SY	3.60	1,008.00
0060	6038000000-E	SP	PERM SOIL REINF MAT	340	SY	5.70	1,938.00
0061	6042000000-E	1632	1/4" HARDWARE CLOTH	30	LF	4.20	126.00
0062	6071002000-E	1642	FLOCCULANT	15	LB	18.00	270.00
0063	6071010000-E	1642	WATTLE	200	LF	10.80	2,160.00
0064	6084000000-E	1660	SEEDING AND MULCHING	2	ACR	4,620.00	9,240.00
0065	6087000000-E	1660	MOWING	2	ACR	600.00	1,200.00
0066	6090000000-E	1661	SEED FOR REPAIR SEEDING	250	LB	2.35	587.50
0067	6093000000-E	1661	FERT FOR REPAIR SEEDING	1	TON	720.00	720.00
0068	6096000000-E	1662	SEED FOR SUPP SEEDING	100	LB	2.35	235.00
0069	6108000000-E	1665	FERTILIZER TOPDRESSING	1	TON	720.00	720.00
0070	6114500000-N	1667	SPECIALIZED HAND MOWING	20	MHR	96.00	1,920.00
0071	6117000000-N	1675	RESPONSE FOR EROS CONTROL	10	EA	60.00	600.00
0072	6117500000-N	SP	CONC WASHOUT STRUCTURE	2	EA	1,080.00	2,160.00
0073	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RECTANGULAR RAPID FLASHING BEACON SOLAR POWERED DISPLAY AND CONTROLLER ASSEMBLY	2	EA	19,200.00	38,400.00
0075	3575000000-E	SP	GENERIC FENCING ITEM (LF) 2 BAR HANDRAIL	707	LF	145.20	102,656.40

CONTRACT TOTAL

TOTAL 1,621,990.40

47313.3.1

TIP NO EB-5857

0.890 MILES

FED AID NO 0200413

GRADING, DRAINAGE, CURB & GUTTER, SIDEWALK, PAVEMENT EB-5857

NC 200 FROM N. LOVE CHAPEL RD. TO CARMEL RD. IN STANFIELD

NJR GROUP INC
ALBEMARLE, NC

ROADWAY ITEMS

SUB-TOTAL 1,621,990.40

BIDDERS IN ORDER

CONTRACT TOTAL

TRUEROCK CONSTRUCTION LLC

1

992,101.40

SEALAND CONTRACTORS CORP

2

1,159,000.00

J T RUSSELL & SONS INC

3

1,307,304.00

NJR GROUP INC

4

1,621,990.40

DocuSigned by:

Jason Brooks

C387DBA8ACEC4A9...